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P-1II (1+1+1) H/21 (N)

SANSKRIT (Honours)
Paper Code : VII - A & B

[New Syllabus]

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code :

Subject Name :

® Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.

I

A

&

B

Important Instructions
for Multiple Choice Question (MCQ)

in the Answer Script.

Example — If alternative A of 1 is correct, the write :

1. — A

® There is no negative marking for wrong answer.
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TGl brEw Ataim (MCQ) & Treeal fHereiett

o T@(q e B RAEE (Subject) TN R @M, @R 791, GRE
G3 (@ TH9 fede A |

Twizas — (T Paper ITI-A (MCQ) @<k III-B (Descriptive) |

Subject Code : |II|A|&|B]

Subject Name : | |

o SFdeR FRelE A4rm (MCQ) Ter fite 7 Afefl oy vifs 3@ e
T&3, IAFE (A), (B), (C) €% (D) I@ (e g | AA=IE o7 Tezd
FATF (A)/ (B)/(C) /(D) Ao RFaibre o 759 Sz Seavid &Fire
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o T& TEEA T (T it WFR @2 |
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Paper Code : VII - A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.
Each question carries 1 mark.
1. What is the time period of Dandin?

(A) 9WHRIHH,

(B) rEHIAH,

(C) -TaHRrdRhH,

(D) e=mH=rdeRH.

2. 'TRIN=ITREgfA'— is the example of —
(A) setor
(B) wrETor
(C) HwHarqor
(D) wHIIToT

3. How many TuTrs are there in amreargsf ?
(A) 5

B) 6
©) 7

(D) 10
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. Tn what category belong of "sitzar=ftear?

(A) Tpa

B) 2afta

(©) amref

(D) wrepd

o SrafErfarafaeEs’— fill in the blank with appropriate word —
(A) w=H

(B) srdm,

(C) 2R,

(D) was,

. Who is the founder of ToT School?

(A) 2

(B) TR

(©) gy

(D) Sm=ads

" amediamear@rargiifar:’— fill in the blank with appropriate word —
(A) Tz

(B) wwpaH,

(C) weH

(D) arddt
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10.

I1.

. How many #mifs are there in eprearesf ?

(A) 2

B) 3

(C) 4

D) 5

What is the speciality of Dandin’s composition?
(A) srefriizas

(B) ueetfera,

(C) aHHaTEeTH,

(D) ®<dgGUH,

Which one of the following is not written by Dandin?
(A) prezrest

(B) argmraRa

(C) s=ams

(D) safag=Hh

What was the name of '$%T3%" in his previous birth?
(A) ==rdts

(B) I*

(C) 8rM

(D) wftrssTet
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12.

13.

14.

15.

Who was the father of F@THar?

(A) Ry

(B) g

(C) =g

(D) TR g6

What was the capital of king dRTdS?
(A) @t

(B) fafan

(C) =g

(D) SSarat

Who was the wife of [&aTg?

(A) fergad

(B) ez

(C) T

(D) weft

What was the name 'y[ge+' in his previous birth?
(A) I

B) I7=8%

(C) ==rdts

(D) a=rarE
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16.

17.

18.

19.

Who is the father of 9wuIyg:?
(A) drmig

(B) wgud

(C) fommg

(D) R

Who is ‘dRaRR:?

(A) AHHITE A

(B) efurer g

(C) SugrRaAf

(D) Sed@ g

"SrETfE TTRfRARTeET __ A QR — fill in the blank with appropriate

word —

(A) 31w

(B) SrIfera

(C) srafag=d

(D) GRaHSSKI

What is the source of STaTgA=Ray ?
(A) Jechal

(B) Uodde

(C) IugpARERd

(D) 8vaRa
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20. "3rafers TR AT~ who is the speaker of this line?
(A) IsTaTET
(B) TdER
(C) Hrawsrdy
(D) sEfag=<d
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P-1III (1+1+1) H/21 (N)
2021

SANSKRIT (Honours)

Paper Code : VII - B
[New Syllabus]
Full Marks : 80 Time : Three Hours Thirty Minutes

The figures in the margin indicate full marks.

1. Answer any three of the following questions (within 300 words) :  15%x3=45

(a) Critically discuss the view of Dandin regarding the causes of poetry.

(b) Write a detailed note on SUHT or IcHETTI

(c) Compare and contrast the characters of ISTaTg: and I-&aH as you find

. 1 (S 1
myour text I[STTg-TdIRdH_ |

(d) Discuss the merits and demerits of Banabhatta's style of composition.

2. Translate into vernacular any one of the following : 10x1=10

(a) ¥ T TREMRE AU Gae ATagaHTs Tl FeaoiamammareraReimafhe 9
Saf JTOTHE I | S T UT0 FT T S@ T ATAeahed 31 avad: g : gt
AHHATE AR A fAeneR: SRl GHe | ATHEI dl ° JATEHEH

(b) T T HIheTh RGPS UTETHTERAT e <l thel- g fRfsdie-Fsayg-
™ 3 ™ ™ —~
HIRTSTe g & 2UTe HUTUHIHSIHIUI YHR - ShUTE e dehad-HaH P ehiRA S a1

PRATIT T HESTATHRG G Ra AR ehd AR HHITHH GRS STl |

3. Define and illustrate any two of the following (within 150 words) : 74 x2=15

(a) aHeh

(b) HATATHT
ORSLIES
(d) fawreT
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4. Explain in Sanskrit any one of the following (within 200 words) : 10x1=10

(2) ZEH-Y dH: fc TR JaT7gH |

gfe reaTgd SOfATEIR 7 w1

(b) B<IfafRal Gereaausar Fgieia:|
41 faen Ao iR ehreaarRA 11
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